ST T T
0 e
-.":
i=se

550~501




i

=

5.7

C_akl‘rerg Ponl

EdeE Powp | 5. 4

M MECoeER (o W

B




e

fofe

=
-

]

G

P RL. T







 |wai i o
> | Zenr 2800137 | Hbs— | — 2% | [ |

i 3
B - S . 2, 78 -
% BT 3

l ,7_05;/%‘.5
4 0.




EAseMeNT]
pPoird 2

19504 57

s

N
o

SAME

EASEAEM T

" ! .
27%5 32"

i EZ:Z» }f z"

1]

42°3¢ 43




|

FEaE

P B

a2\

)

4 -
- | .

Vi mi b3 e

L)

C—T

Ve AWIS/AISE













_‘L_Zzz Z &

;f:{]"? 1z 2

N,
13
Ii\
4

\o1D

1
? 9’2&; 55

180°59 ‘23"

S Ame Seme | NOID
) "
79 53
- \/eo%e'24
—Ami | SeMe Ww%s'y7 | 129 % | 222 }
Q24 41 73892 |iz25 2
1805725" | 739 % |25 ¢
A 14 s 73451 ) 145 . Z | —o-dE /
e @ T SR
= edwdy ¥, L%OZ'"I’/ Y '.457 _'.f; _ J_‘?_,
/ it , 25 = 1
—rosste V71022 24" | e 2 170 Z )
CAME =i etk #2 /%’a’?o” /08 l__ . —
e S . — | —
(]
Z pogpugd |2 Souqrd 89 4p oy = e b
. U‘ef' L ol ¥ SaSte Ko (I
- 7’?&7 o y'.'. T.-‘_’Pﬂ .r,—- ’1’; f'j’__‘:ﬂ'
il ] " v i {
R 1 " 1lE | o388

-U] | T I
Bl e $ 1'1 =L
7 TN 7T |
i - I | lologwbre s 1.
ARRIITTNN
|
% 1 1 ‘
Al T |
HHH |
= (|1
= HE L. ]
i |
|
".T ™
Tl [ Vl \sf Fe FALLL]
e
NEEIR |
- el Il |
S :
L Sl iﬂ | |
| T‘ =BT ,j-n-. i
- 1 8 i:E( —l"Ef-«"m|z,
[ ‘ T i i o e |
| E [‘ | 1 | _L'_i__ | 1
E Tt i
[ ‘ Ejﬂt\| SE ¥
|
T
| \ | |
| i
| A
1 | 1




97% 10"

%03 25










D /. A

Bl p) |
{ | L2 | b

o A e LA O A w 127 E) i 1.4 33
LT 4 lg /»rf LLPPE D w1l 4 ) !

Locdy toat Or gl  ppyer Dywd. 2 I T EA
i 4 ! ‘ ( | s
“ deo | CEmrpimep ¥ [Motikp Fop )] i 11 /6 FZJ,-? 2/6 8
I A ﬂi_ijg%aé__c/zﬂdu 2ig | s b

VT O Vb = AJAP s ., Wil | X ] . | Ll

Zocrdi2
/

& oS

[P - - 2 K | | .

14 p1e .= 2 . i : = o
g ™ pir ol ypeil, |1 : R b -




£ N

|7 V=,

Ozevions | Adgandw Lrg

U7 pp | THE

N |

n\

A AT AT
!

Ty R

v g |T, So | s flUF

A | =mat X =]

1 OS
N3N
‘!.. \J ,_\: N !

SRS

b5 ‘:

= A}ﬁzhggi 7—:225_ 774

Ef pefécjro 4

| y7E<gED | 7B B
7@— Ferle —L 7
i fé;}?’ﬂ.z."'fé'_-‘ |- - /-
) Y) E

A smapld VEX I

o




| pror e | | z¢
_: = 97 | — Fn ST
12 / £5 |

{

Cayes! dirgn vy

B, % o)
P 4" |augnmng [91 3324

Sle? ol | LN F WLl

4y . 111°29'08"| 10227 |

L’

I —

! ZAET T 3z s P 1 | | ‘
s . 2 = fJ EE - ‘
Ly o - Méﬁﬂ{fﬁfé //ﬁi?”q LSS e [ |

o 1. nl 2
O,
Juroa2d |




e
i L/ﬁn/#}"
=&

bt e

G. Lapiesy
24 LV A oy
;

!——7/'.\‘-‘--: 3

BolLtex

&)
.

DA |

ALy







A A

= AST =1 DE

DRl m|in) Ay N1zt €AY
I

-

/EETICA & acoeve s

‘.-_""J’T'A/




AR R A Py s i 5 1




o
Jo+0e S

/O 400 Z

/1400 5

) 100 £

/21"0&2

] 21400 Z

/3400 £

18 400t

24 #p0 =

e rov #




&
| 151005 |

S
/5700 %

e
| ]
1 —




S74

20400 % 242 | 4].33 ]
Zore0 b o2 | 8261
Zitew £ 522 | 80.d8
zi1#00 € - 12 g[.ég
22400% g7 |79.33
272 400% 257 %O 441
231,205 922 |79.28
z?;fzo;' o2
23700.20% . 55 '7?‘83.
2400 £ 2% | 7934 |
zuee € 5= |78:47
264044 b5 | 77-89




Zze400 T

2ltod &

246400 €

o
5

Z 7700

27100 ¢




] /o0 Z

77? o 7
//tv0 =5 o







K| ;& Alrigad]

G\ [hsgad

-

|G e 7,
L TeAls

et slENTEE

A ﬁ,ﬂ. (o

cpin >

Lpm =

cp >

LplD 9




Zep

7

,,:'}” J—()J'jﬁ
STa
\P7 os Gpsp i
E7 KNy

=

=7

=



















B e e




ol d |

/










S mm e

e

AL .

1/- Prer

sz

M6

.lo U/' 7

28 1,

/e et
7 o
[He — e 49

el &4

197, 7¢

= My D

Ly 33

2. 7€) - p.27
|
Ji '
T T LT T )
/ fl ./'J f ;/ > ﬁ/
/ ias
/ ﬂ / % . )
/ * / N
/ ,/,-‘441'15”
/ LEFT /51 2| wesy

/5. 3!

ELs







| =
Y
5 R |
by — I
X L. I 0 T - ]
8 _,_ | L= ]
w RV e —— ﬁ = |
b B . - | B I
Nt I ] i |
\'] |
- N ~ n i
AN
— s |
) _, ||_,l l_ - —
0 N _
N = ===—u
e e ===
- . 7 =
N =1 il %. _ [
q m 1 ]
e AN ,
i W — = =
A |
- Ql B
% LN il  [— |- —l
0 | = i - =
{ H o | R I I N T ﬂ
,ﬁ = T f

@) W)
3 P

S7A




2EE  OF Ve L

ALCESS













oL A o & .
s SUB NS H _SuB GRAID |
M'g’ff{%!b G ﬁ’ﬂ LUT fF’/ L CUT] | FIAL




| oL

tee. | FINISH, §
SRAD| &R

18253

103,39 |

104, 4y

1004/ |
16b.7¢
344 1|

Y




" idy
f

[t

W
N

1

J
™

.
"
\ \

v
< |

~|M
(R

LN

1w

tay |

5

S
\
[y}
o)

—

| 20088
—g

il
£

vy







=" o
i

E




A |||r||—||.. |\ |, ||_I#|

ISP !

»
-

e i
/”"r’ /&
[ (=

P
%'

B
rﬂrﬂm

i




AN SOBialg

-
. A

| Sespairr AREE

e S LT .r'-f;a_fi“f;'_f;::,-

o, R AP /
= Lol 7 YA

¥

75[.»5 At

DAl yor) |

_ =7 SASra ez

= 2+ & 4

SEprie
7o &

~a

p STEEAR |

LPEEE. .

| 1151y




ur

|

Q
b
©
f
-
&’
-
h
=










Bt

:E K

- SD LL):I"J‘CD

40°

T WBRD

1t

1S e @

Bis i




N

Th~al - &/ jatgu/?e,gz WA

CURVE TABLES

HOW TO USE CURVE TABLES

Table I. contains Tangents and Externals to a 1° curve. Tan. and
Ext. to any other radius may be found nearly enough, by dividing the Tan.
or Ext. opposite the given Central Angle by the given degree of curve.

_ To find Deg. of Curve, having the Central Angle and Tangent:
Divide Tan. opposite the given Central Angle by the given Tangent.

_To find Deg. of Curve, having the entral Angle and External:
Divide Ext. opposite the given Central Angle by the given External.

To find Nat. Tan. and Nat. Ex. Sec. for any angle by Table I.: Tan.
or Ext. of twice the given angle divided by the radius of a 1° curve will
be the Nat. Tan. or Nat. Ex. Sec.

EXAMPLE
Wanted a Curve with an Ext. of about 12 ft. Angle

of Intersection or I. P.=23° 20’ to the R. at Station
542472,
Ext. in Tab. I opposite 23° 20" =120.87
120.87 +12=10.07. Say a 10° Curve.

Tan. in Tab. I opp. 23° 20'=1183.1
1183.1 +10=118.31.

Correction for A. 23° 20’ for a 10° Cur.=0.16
118.3140.16 =118.47 =corrected Tangent.

(If corrected Ext. is req‘uired find in same way)
Ang. 23° 20" =23.33°+10=2.3333=L. C.
2° 193’ =def. for sta. 542 | 1. P.=sta. 542472
4°494'= * 4 U +50 | Tan. = 1 .18.47
i sl ) 543|p C.=sta.  541+53.53
95 49%] e 3 [ " +50
1104012 « a a 543+ L. C.= 2 33.33
86.86 ' E. C.=Sta. 543 -86.86
100 —53.53 =46.47 x 3'(def. for 1 ft. of 10° Cur.) =139.41"=
2° 193’ =def. for sta. 542.
Def. for 50 ft.=2° 30’ for a 10° Curve.
Def. for 36.86 ft.=1° 503’ for a 10° Curve.
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